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| Time: 10 Minutes | Paper Math 6 (T-1) |  Total Marks: 10 |
| 3rd Month, 4th Week, 2nd Day | Review Exercise 7 Q # (1, 2) |
Q.1. Choose the correct options. 05x6=3) - /.fl?"'l(_.«lﬁw/;

(i) Which of the following is the symbol of equation?
?c".d/cfl:v.:/!kd u:'/c_‘ﬂ(f“ 3l

(@ + () - (©) / (@) =

(i) x+9=19istrueforx=___ :‘Lyuééx = x+9=19
(a) 1 (b) 10 (c) 2 (d) 20

(iii) Mathematical world problems represent: H/4 Z./';;U;cfﬂlr(j/lf(}l)
(a) [ sentence A% | (b) | situation =/t | (c) | variable ﬁ‘:‘ (d) [ constant J’V

(iv) The power of variable in a linear equation is always as:

:c‘_Jn.ér:.::’wJ/é"ui';.bv&»u{

(a) 1 (b) 2 () 3 @ 4
(v) In the expression 6x* the number 4 is: :‘L4)ﬁuf6x4,.1€
(a) | constant ulu“/‘ (b) [exponent Ve d (c) | base J U1 (d) [coefficient /u’m

(vi) An equation shows that two mathematical expressions are:

e t‘/;z Gy _J uk@u».;.uv._.ﬁ

(a) | unequal £/t [(b)|equal 1z | (c) |less than equal to| (d) |greater than equal to

sl b sl
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W Answer the following questions:
Q.2. Solve the following equations. (2x2=4)
1
) 3 x+5=10
(ii) 3.5x+2.5=1.5x-4.5
Q.3. Solve: (1x3=3) g/
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